
Ordering ATD276 & ATD277 CONTENTS:
Part# Description

6 MACHINE SCREW PLUG TAPS
PRT277‐01 1 MACHINE SCREW PLUG TAP *4  40 NC
PRT277‐02 1 MACHINE SCREW PLUG TAP *6  32 NC
PRT277‐03 1 MACHINE SCREW PLUG TAP *8  32 NC
PRT277‐04 1 MACHINE SCREW PLUG TAP *10  24 NC
PRT277‐05 1 MACHINE SCREW PLUG TAP *10  32 NF
PRT277‐06 1 MACHINE SCREW PLUG TAP *12  24 NC

6 MACHINE SCREW 5/8" HEX DIES:
PRT277‐07 1 MACHINE SCREW 5/8" HEX DIE *4  40 NC
PRT277‐08 1 MACHINE SCREW 5/8" HEX DIE *6  32 NC
PRT277‐09 1 MACHINE SCREW 5/8" HEX DIE *8  32 NC
PRT277‐10 1 MACHINE SCREW 5/8" HEX DIE *10  24 NC
PRT277‐11 1 MACHINE SCREW 5/8" HEX DIE *10  32 NF
PRT277‐12 1 MACHINE SCREW 5/8" HEX DIE *12  24 NC

10 FRACTIONAL PLUG TAPS
PRT277‐13 1 FRACTIONAL PLUG TAP *1/4   20 NC
PRT277‐14 1 FRACTIONAL PLUG TAP *1/4   28 NF
PRT277‐15 1 FRACTIONAL PLUG TAP *5/16   18 NC
PRT277‐16 1 FRACTIONAL PLUG TAP *5/16   24 NF
PRT277‐17 1 FRACTIONAL PLUG TAP *3/8   16 NC
PRT277‐18 1 FRACTIONAL PLUG TAP *3/8   24 NF
PRT277‐19 1 FRACTIONAL PLUG TAP *7/16   14 NC
PRT277‐20 1 FRACTIONAL PLUG TAP *7/16   20 NF
PRT277‐21 1 FRACTIONAL PLUG TAP *1/2   13 NC
PRT277‐22 1 FRACTIONAL PLUG TAP *1/2   20 NF

10 FRACTIONAL 1" HEX DIES
PRT277‐23 1 FRACTIONAL 1" HEX DIE *1/4   20 NC
PRT277‐24 1 FRACTIONAL 1" HEX DIE *1/4   28 NF
PRT277‐25 1 FRACTIONAL 1" HEX DIE *5/16   18 NC
PRT277‐26 1 FRACTIONAL 1" HEX DIE *5/16   24 NF
PRT277‐27 1 FRACTIONAL 1" HEX DIE *3/8   16 NC
PRT277‐28 1 FRACTIONAL 1" HEX DIE *3/8   24 NF
PRT277‐29 1 FRACTIONAL 1" HEX DIE *7/16   14 NC
PRT277‐30 1 FRACTIONAL 1" HEX DIE *7/16   20 NF
PRT277‐31 1 FRACTIONAL 1" HEX DIE *1/2   13 NC
PRT277‐32 1 FRACTIONAL 1" HEX DIE *1/2   20 NF

6 METRIC PLUG TAPS
PRT277‐33 1 METRIC PLUG TAP *3MM  0.50
PRT277‐34 1 METRIC PLUG TAP *4MM  0.70
PRT277‐35 1 METRIC PLUG TAP *4MM  0.75



PRT277‐36 1 METRIC PLUG TAP *5MM  0.80
PRT277‐37 1 METRIC PLUG TAP *5MM  0.90
PRT277‐38 1 METRIC PLUG TAP *6MM  1.00

6 METRIC 5/8" HEX DIES
PRT277‐39 1 METRIC 5/8" HEX DIE *3MM  0.50
PRT277‐40 1 METRIC 5/8" HEX DIE *4MM  0.70
PRT277‐41 1 METRIC 5/8" HEX DIE *4MM  0.75
PRT277‐42 1 METRIC 5/8" HEX DIE *5MM  0.80
PRT277‐43 1 METRIC 5/8" HEX DIE *5MM  0.90
PRT277‐44 1 METRIC 5/8" HEX DIE *6MM  1.00

10 METRIC PLUG TAPS
PRT277‐45 1 METRIC PLUG TAP *7MM  1.00   
PRT277‐46 1 METRIC PLUG TAP *8MM  1.00   
PRT277‐47 1 METRIC PLUG TAP *8MM  1.25   
PRT277‐48 1 METRIC PLUG TAP *9MM  1.00
PRT277‐49 1 METRIC PLUG TAP *9MM  1.25
PRT277‐50 1 METRIC PLUG TAP *10MM  1.25  
PRT277‐51 1 METRIC PLUG TAP *10MM  1.50  
PRT277‐52 1 METRIC PLUG TAP *11MM  1.50
PRT277‐53 1 METRIC PLUG TAP *12MM  1.50  
PRT277‐54 1 METRIC PLUG TAP *12MM  1.75

10 METRIC 1" HEX DIES
PRT277‐55 1 METRIC 1" HEX DIE *7MM  1.00   
PRT277‐56 1 METRIC 1" HEX DIE *8MM  1.00   
PRT277‐57 1 METRIC 1" HEX DIE *8MM  1.25   
PRT277‐58 1 METRIC 1" HEX DIE *9MM  1.00
PRT277‐59 1 METRIC 1" HEX DIE *9MM  1.25
PRT277‐60 1 METRIC 1" HEX DIE *10MM  1.25  
PRT277‐61 1 METRIC 1" HEX DIE *10MM  1.50  
PRT277‐62 1 METRIC 1" HEX DIE *11MM  1.50
PRT277‐63 1 METRIC 1" HEX DIE *12MM  1.50  
PRT277‐64 1 METRIC 1" HEX DIE *12MM  1.75

ACCESSORIES
PRT277‐65 1 *ADJUSTABLE DIE STOCK  1"  DIES
PRT277‐66 1 *PLAIN DIE STOCK  5/8"  DIES
PRT277‐67 1 *ADJUSTABLE HANDLE TAP WRENCH  TAPS NO. 0 TO 1/2  
PRT277‐68 1 *TWO‐IN‐ONE TAP WRENCH  TAPS 1/4  TO 1/2 
PRT277‐69 1 *T‐HANDLE WRENCH  TAPS NO. 0 TO 1/4  
PRT277‐70 1 *METRIC THREAD PITCH GAUGE 
PRT277‐71 1 *FRACTIONAL THREAD PITCH GAUGE 
PRT277‐72 1 *BLOW MOLDED PLASTIC CARRYING CASE

2 PIPE THREAD PLUG TAPS



PRT277‐73 1 PIPE THREAD PLUG TAP *1/8   27 NPT
PRT277‐74 1 PIPE THREAD PLUG TAP *1/8   28 BSP

2 PIPE THREAD 1" HEX DIES
PRT277‐75 1 PIPE THREAD 1" HEX DIE *1/8   27 NPT
PRT277‐76 1 PIPE THREAD 1" HEX DIE *1/8   28 BSP

1 EACH-HIGH SPEED STEEL DRILL BITS
1 *NO. 3
1 *NO. 7
1 *NO. 9
1 *NO. 16
1 *NO. 19
1 *NO. 20
1 *NO. 21 
1 *NO. 25
1 *NO. 29  
1 *NO. 30
1 *NO. 36    
1 *NO. 39
1 *NO. 43   

1 *LETTER B
1 *LETTER F
1 *LETTER H    
1 *LETTER I    
1 *LETTER J
1 *LETTER O
1 *LETTER Q 
1 *LETTER R
1 *LETTER S
1 *LETTER U
1 *LETTER Z   

1 *5/64
1 *7/64 
1 *5/32     
1 *1/4 
1 *19/64 
1 *5/16 
1 *21/64    
1 *3/8 
1 *25/64     
1 *13/32 
1 *27/64     
1 *29/64 

 

PRT277-77-112* *Drill 
bits only provided as a 

set



1 EACH-SPIRAL FLUTE SCREW & BOLT EXTRACTORS
PRT277‐113 1 SPIRAL FLUTE SCREW & BOLT EXTRACTOR *EX  1
PRT277‐114 1 SPIRAL FLUTE SCREW & BOLT EXTRACTOR *EX  2
PRT277‐115 1 SPIRAL FLUTE SCREW & BOLT EXTRACTOR *EX  3
PRT277‐116 1 SPIRAL FLUTE SCREW & BOLT EXTRACTOR *EX  4
PRT277‐117 1 SPIRAL FLUTE SCREW & BOLT EXTRACTOR *EX  5

1 EACH SMALL SCREWDRIVER
PRT277‐118 1 SMALL ACCY SCREWDRIVER

 

 


